= L. B39\
T HE e

fhZe (AR01)

T4 | R6fEL i)l 18- AH~ER FEEdTE (1) FEnFE FEXS SEIPI S
fefR) TEXS e
TEHX Sy - TFE - FERI - 5] ks BT o (il Y (AR Tk T 2
S-SR
= 1
LT
= 1
PEHI T
=; 1
P A W, i T 5E A7 vy b, Rt
SHEL, BRESEME L, fE T8 &5, 000m3
LA 10, 000m3A i m3 7, 600
AT
= 1
DA B CEBl- ERIRY L&)
L=19. 5kmPL T
m3 2, 500
Vs A%
m3 2, 500
DA B CEBl- ERIRY L&)
L=19. 5kmPL T
m3 5, 100
¥ 50y
m3 5, 100
S an
= 1
THHERKT
= 1
_q - T I




=Ry

it fEae (AN01)

TH4 | R6fHEL: ARl 18 - A R~ER FNEHAI T (1) FEVF FHEN Sy 7)1 e fes
EESit)) THEX5y SRR
THX 5y - AR - R - A5 Biks HLAZ ¥ (mifal) e (4m) KR e

P73 PRI 122X 1, 524X 6, 096 (mm) , 1F
Dy RRIE - i
m2 1,013
T HER T
= 1
THHER% T ffi T B 2 4. omLA |
= 1
KEALD 9 KA LD 5 34 H=1. 08m W=1. Im
= 1
THAhERRE i T B 4. omEA |
= 1
K L
= 1
I IR K A B LR ) F VA, ¢ 1000
= 1
A T
= 1
A2 R A B A
AH 30
SIS AR A B
AH 30
{7 s
= 1
9 e U




T

= 9/A

fhZe (AR01)

I=E7 TN
TH4 | Reft fg)ll - AR ~ER EHREITF (1) (H0F FHEN Sy 7)1 e fes
EESit)) THXSy 7)1 ey
THX 5y - AR - R - A5 Bikk HLAZ ek (gilED) e (4m) KR S
LA T
= 1
RARBRIR T
= 1
A - AT (A BIAR T DK 5y AR N OV T
Py ARAT
m2 5, 300
LA i
L=13. 5kmPL T
m2 5, 300
RARBANT LSy
m2 5, 300
[EREMIE: -
X 1
Bl TR
= 1
ST
= 1
Y
X 1
R T2
t 175
il ey
= 1

=N

i



1.5

-

=Ry

=Y

RfEZR (AN01)

H

TH4 | Reft fg)ll - AR ~ER EHREITF (1) (H0F FHEN Sy 7)1 e fes
EESit)) THXSy 7)1 ey
THX 5y - AR - R - A5 Biks HAL ¥ (mifal) i (4D KR e
EREE TV

= 1

HomfErE (FEL)
= 1

ol T
= 1

L5 B
= 1

LUl
= 1

— I A
= 1

T EAfliks
= 1

THEBIRE K O 5 1 e B
= 1

THEF
= 1
-4 - IR




